Supplemental Linear Problems

Describe all solutions of Ax = 0 where A is row equivalent to the given matrix. Write your answer in
parametric form (i.e., the form in the last two examples).

1.
1 3 -3 7
0 1 -4 5
T -9 8
. _ To _ 4 -5
sol : x= vy | T T3 1 + 24 0
T4 0 1
2.
1 -3 -8 5
0 1 2 —4
T 2 7
. _ i) _ -2 4
sol : x= s =3 1 + x4 0
T4 0 1
3.
-1 -4 0 -4
2 8 0 8
T 0 —4
. _ i) o 0 0
sol : x= vy | T T3 1 + x4 0
T4 0 1
4.
3 —6 6
-2 4 =2
T 2
sol @ x=| 2y | =x9| 1
T3 0
5.
1 -4 -2 0 3 -5
0 0 1 0 0 -1
0 0 0 0 1 -4
0 0 0 0 0 0
X1 4 0 -5
To 1 0 0
sol : x= oy =22 | + x4 1 + x¢ 0
T5 0 0 4
Te 0 0 1



—6

o o

o O

o O

o o





